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ENCE 353 Introduction to Structural Analysis, Fall Semester, 2021

Homework 1
(Due: September 20, 2021)

Question 1: 10 points

Classify each of the structures as statically determinate, statically indeterminate, stable or unstable. For
those cases that are indeterminate, specify the degree of indeterminacy.
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Question 2: 10 points 2 1
W
Determine the reactions on the structures below. 2 Oy -
CF=0=>A,=21.6Kips (20) #° 3= 29.8 kips
SMy=0 = 12(2)+J2/'5)+2‘??/20)’ 12 kips 12 kips 36 kips
e = -12-12 282 =0
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